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Tcl/Tk Application
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Tcl/Tk Application
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Tcl/Tk Application
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 set x 7

wish I 22 0=
(% AER|

(win_=88) 1 % button .b -text "Hello Toler™

.b
(win_x8a) 2 % pack .b wg@@
Hello Tcler .

(win_=88) 3 %
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= C/C++210{2] embedded O &

#include <tcl.h>

int main(int argc, char *argv[]) {
Tcl_interp *interp = Tcl_Createlnterp();
code = Tcl_EvalFile(interp, argv[1]);
if (*interp->result = 0) {

printf(“%sWn”, interp->result);

}

}
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s NEXO| ©OQLIA ATJ2lE
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#1/usr/local/bin/wish —f
puts stdout "Hello, world!”




2 =&

= B0 (FHAME)S| CIXE AHO|AZ
TEXOf Lt
= command argl arg2 arg3 ...
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= command argl arg2 arg3 ... ; command argl arg2
arg3 ...
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Hello World

puts stdout {Hello World}
= Hello World

puts stderr {Hello World}
= Hello World

puts {Hello World}
= Hello World

puts stdout "Hello World”
= Hello World

puts stderr "Hello World”
= Hello World

puts "Hello World”"
= Hello World

stdout2 EZFE HA[X| &8

v’ Standard output

stderr2 H& 02| HA|X| =
v' Standard error



set var 123
= 123

set var
= 123

set var abc
= abc

puts stdout $var
= abc

puts ${var}def
= abcdef

unset var
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exprl/0
divide by zero
expr 10 + 0x10 + 010
= 34
expr 2.0 * asin(1.0)
3.14159265359

setil
1

incr i
2

A 01 Af

v oexpr HME AR
v 1614874 E TfQ) Hs
v 1674 0x10 = 1082 16
v 8%l 010 = 1022 8
v ChYS Sttt K|
v’ Lh=(random) X| &



7401 E o] X|z}t (Substitution)

= setx [expr 10 * 2] v [L] = HMEQS| Al AntZ X 3t
= 20

= puts $x
= 20

= seta 10; set b [set a]

= 10



G2 HEo]H .

set var 123
= 123

puts "result = $var”
= result = 123

puts {result = $var}
= result = $var
puts "result =\ $var”
= result = $var

set var 123
= 123

puts "result = [pwd]”
= result = C:/

puts {result = [pwd]}
= result = [pwd]

puts "result =\ [var]”
= result = [var]

o =7} X|2H0|
Ne

o =7} X|$40| OHE
=Tty o KBk
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format A{Al

scan "123.456" "%d.%d"ab v COA0{9| scanf, printf o} =
.2 M4 x| ¢l

set a v' scanz AN A0 & ZA+E
" 123 v format2 A Ao BHAH| EX}
set b

= 456

format "%d.%d" $a $b
= 123.456
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procedure(gh=)

# 29| 2K}
set foo 3
=3
proc add {a b} {
global foo
return [expr $a + $b + $foo]

}

add 1 2
>6

v proc Z{HHE Z 07f O|&e| CIXIE
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procedure(gr=)

# T QX 7| &= QA v OIX}o| 7|& Z+S 74A £ QICt,

proc plus {a {b 1}} { v OIRHO|| H==2f 4XO| Ot H=2
upvar $a r O| & AtM|E &KXt oL upvars
set r [expr $r + $b] A& 3StLE (call by name)
return $r

}

set foo 1

=>1

plus foo

>?2

plus foo 2

>4



procedure(gr=)

# 74 Xt v 7FHOIXIE argsE AFR LY.
proc sum {args} {
sets O
foreach i $args {
set s [expr $s + $i]
}

return $s

sum 1 2
= 3
suml23
= 6



namespace

namespace eval Hello { v namespace= o 7| X| AFO|Q]
variable var {Hello World} AlE (Sl H)2 =E 2 106}
proc print {} { sk 7|1
variable var
puts $var

}

namespace eval Hello2 { puts $Hello:var

variable var {Hello World} SHello WONd
proc print {} { Hello:print
=>Hello World

variable var
puts $var

}
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comment(3=

# 3N 1 v # AR
# 3N 2 W v AJBRE 7

=42 A%
puts {Hello World} ; #5341 3
= Hello World

1



=

elseif, else

set var 2 v RIHE ZA Ay S8
= v else= 42 TH5 8L
if {$var == "&"} {

puts 1
) set var &
>1 >

if {$var == """} {

set var O| puts 1
> 0| } elseif {$var == "O|"} {
if {$var == ""} { puts 2

puts 1 } else {
} else { puts 3

puts 2 }
} =3

>



for

1;0r {seti 1} {$i <= 3} {incr i} v K|A™E 3013 |OOp% 2BUSHL|
puts $i v’ break= loopZE A LEZFC.
;1 v’ continue= C}2 loopS 4=3H3tC}.
>2 for {set i 1} {$i <= 5} {incr i} {
>3 if {$i > 3} {
break
for {seti 1} {$i <=5} {incri} }
{ puts $i
if {$i < 3}{ |
continue >1
¥ >2
puts $i >3
}
>3
24

25



seti3

-3

while {$i I= 0} {
puts stdout $i
incri-1

¥

-3

-2

=>1

while
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C}.

v’ continue= Ct3 loop=
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foreach i {A B C}{
puts stdout $i

)

>A

=B

=>C

foreach {ij} {ABCDEF}{
puts stdout "$i $j”

}

> AB

=2 CD

= EF

foreach



set fruit “ A t”

=> At 1t

switch $fruit {
Ak {puts 1000&}
=2 {puts 500& }
gtLtLt {puts 2003 }
default {puts 2

}
1000



catch {expr 1+2} var
=0

catch {expr 1*_} var
=->1

catch {expr 1/0} var

-1

catch {error bug} var
-1

catch

v 0|3 E catch(ZX|)stC}.
v Ol{ZEAl L OfEA| 05 2| H

% expr 1*_
invalid character " "
In expression "1*_"
(parsing expression "1*_")
invoked from within
"expr 1*_"
(file "a.tcl" line 1)



set ary(At1}) 10004
= 1000&

set ary(2 2l X|) 500&
=>500&

set ary(HfLfLt) 20002
=>2000&

parray ary
=ary(Atdt) = 1000
ary(2 3 X|) = 5008
=ary(HfLtL}) = 2000&

puts $ary(Atd})
= 1000

array 1/2

v QAEQ @S

v AEMOZ 1KY 2
717t 2Argel A= OI%3P04
Ol #? 7t

v parray= arrayl| 2
v 7 =3



array 2/2

array names ary array get ary

SHLLF @ 3 X| AT} =>HIL{LF 2000% @&l X] 500& At 10004
array size ary array unset ary

=3 Dary AKX =

array exists ary unset ary(2 &l X])

>1 2> 2HX] 24 A E

array set ary {
At} 1000
Q&IX| 500 O 2|0 &= Crefot AMET YO L
HFL}L} 20002 T A ZAXE &g A



string 1/2

set str abc v B2 XA O E
if {[string equal $str "abc"]} { v DXt H|DA| s ring F{oHE 2
o 28 AFgH 20| QidtLt
>Z=
set str abc
if {[string match "ab*" $str]} {
puts &=
}

o
>2g



string 2/2

string length "abc” O] 9/0= C}Otst H W) QloL)
>3 Tel ZA ZA1Z X+ 7847

string range "abcdef” 0 2
=>abc

string tolower “"ABC"
=>abc

string toupper “abc”
=2 ABC

string index “abc” 1
2>b



set strl abc
append strl def ghi
set strl

=>» abcdefghi

append str2 123 456
set str2
= 123456



set var "AT} Q| BHLHLY v WIS EL SLSE ALRSIO
SN QUS| L Suoz P 2xol
set var {At1} @ @IX| HfLLE)
> Atdp QAKX BELELE
set var [list Abo} @ &IX| HFLFLH v OIXIo| EXIE 2 EEH 2[AE MM
> Atat QK| HiLpL}
set var [concat "Atat QUX| HILILE] v O|X}O| 2XIE R EHE ZHIS
set var [concat {Atdl I X| HELFLE]
> Atap QEX| HpLLE
set var {Atdt @ HlX| HfLFLE} v B|AEQ 24 =7t
> =S B VORI s QSAl M2 R B|2E
lappend var HE &7| AH A

o O

AR QK] HiLILE BE E7



set var "At1} @I X| HfLFL}

llength $var
=3

lindex $var 1
PPN

Irange $var 0 1
> At} @ EIX|

linsert $var 1 0| = =]
2> At K2 E7| QEX| HELELE

Iset $var 0 7|9
2> 7% @HX| HiLfLt

ISt

v

v

v

PlaE0 22

- 2| &



set var "Ataf @ HlIX| HfLtLE”

Isearch $var @ &IX]| vV B|AES QAE HA

- O 1
>1
Isort "At1t @#IX| HfLfLE" v B|AEQS QAE MHA

DHFLLE Afat 2 HIX

set var {Af1h @ I X[:HFLFLE ARG v EXEs 2L
> ApE < #UX|HELFLE AR

split $var :

> AtdE = HELPLE AR

OF

[ 2| AE = 2[H

0/ _9/0//5 E/oﬁa"/ ;fﬂﬂ:]/ O/OL/
el B4 BAIE 208t



file 1/0

set fd [open “sample.txt” w]
puts $fd “hello world 1"
puts $fd “hello world 2"
close $fd

set fd [open “sample.txt” r]
set txt [read $fd]

puts $txt

close $fd
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proc filechk {filel file2} {
set timel [file mtime $filel]

set time2 [file mtime $file2]
if {$timel > $time2} {

return "$filel O] X2z QlL|C}”

} elseif {$timel < $time2} {

return "$file2 O] X|=2Z4QlL|C}”

} else {
return "&&L|C}E”
}
}

filechk a.txt b.txt

v

mtime= modify time.

O/ /0= fileq) BtE1&l CFSFat 7 0H = f
9oL Tel 34 241 H A



package

package require tcl3d v’ package= TclQ| 7| & 7| S0 A
package require vtk Z10 Ao 2 stESH=
package require Bwidget NEoz2 HE SR 7|X|2f BEE

v 3 TdOILE, C/CH+ 2 8
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Tcl commands

1=

| TelB.5.10/Tk8.5.10 Documentation > Tel Commands

cl/Tk Applications | Tcl Commands | Tk Commands | Tcl Library | TkLibrary

after error lappend platform tcl findLibrary

append eval lassign platform::shell tcl startOfNextWord
apply exec lindex proc tcl startOfPreviousWord
array exit linsert puts tcl wordBreakAfter
auto execok expr list pwd tcl wordBreakBefore
auto import fblocked llength re_syntax tcltest

auto load fconfigure load read tclvars

auto mkindex fcopy lrange refchan tell

auto mkindex old file lrepeat regexp time

auto qualify fileevent |replace registry m

auto reset filename |reverse regsub trace

bgerror flush |search rename unknown

binary for Iset return unload

break foreach |sort Safe Base unset

catch format mathfunc scan update

cd gets mathop seek uplevel

chan alob memory set upvar

clock global msgcat socket variable

close history namespace source vwait

concat http open split while

continue if package strin

dde incr parray subst

dict info pid switch B
encoding inter pka::create Tcl

eof join pkg mkIndex tcl endOfWord 2

|

A|SIIA] &0z X 2/0f = LFEor A/ HEZS

A& ofd 2
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Welcomwe to the Active3tate ActiveTcol
§.5.6.0.289025 distribution for Win3z/x86.

Package Management: *new?®
TELcup, the TEALpot EBepository Client

r Packages=:
I“F“’llﬁ'lﬂl Tel 8.5 Thread 2.6.5
ndustry slandar
T8 Qs Tk 5.5 trofs 0.4.4

hAotiveTol 5.5 is compatible with most
AetiveTol 5.4 packages.

More packages cah be obtained with the
| teacup, or by installing this

discribution into the same directory as an
existing hctiveTol 5.4

installation.

Using ActiveTol at work?

[

[ Wext = ][ Cangel

ActiveTcl (www.activestate.com/activetcl )
ActiveState AFOIA A& &|= Tel/Tk Q1E{ = 2| E
Tclsh,WishBt X| & =

Cietot SHSZ0M BoYE Tc/TkQIHZZ[H XS
Windows, Linux, Mac OS X, Solaris, AIX and HP-UX

-
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& Printinfo proc
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